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c _9 g Initial examination Aeromedical Center (AMC) Aeromedical Center (AMC)
- - 'g§ or Aeromedical Examiner (AME)
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© © S g Max. medical certificate validity (45 | under 40: 12 months under 30: 5 years
% K] days for reexam) 40 plus: 6 months 30-49: 2 years
SE 50 plus: 12 months
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g = 28 X-Ray initial, then if indicated
P ‘§ < according to JAR-FCL 3.155(b)
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3 gc Elektrocardiogram initial, then initial, then
Qo "3 under 30: 5 yearly
> - c £2 30-39: 2 yearly 40-49: 2 yearly
] ] S £ 2 52 40-49: annually 50 plus: annually
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i fnl= =3 bl 2 & 2< Audiogram initial, then Eltljaerlgf) "usmfgarﬁ ing
under 40 : 5 yearly 40 plus : 2 yearly
40 plus : 2 yearly
Extended otorhinolaryngology initial, then initial
under 40 : 5 yearly
40 plus : 2 yearly
Extended ophthalmology initial, then initial, then
according to JAR-FCL 3.215 according to JAR-FCL 3.335
Lipid profile initial, then at age 40 :Lﬁi;lr T—,g:—,e;is:gf:?grs :
Pulmonary Peak Flow initial Peak flow initial
then peak flow at age 30, 35 and 40  |then at age 40
then 4 yearly then 4 yearly
Urinanalysis every examination every examination
g g The complete requirements are listed in JAR-FCL, Part 3; Chapter B and C and Annex 1-18.
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= '% Any test may be required at any time if clinically indicated (JAR-FCL 3.105(f)).
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